/—a 125, 4PL.
2,850 —

T T
| |
| |
| |
| |
/ | |
2,525 —f —«f— ————————————— ? | |
8125, 2PL. _ __
1 1 | |
| | 20 4-40 BRASS NUTS /_ | |
i : /20 4-40 X 1/4° SCREWS | i
| |
) | N & — 142 ! !
| | | |
| | ' |
325 —f+-p—-—-—-————- 4 Va 125, 2PL.
.000 _| i i | .000 — - .000 - P A—
o o B 8 =} /
=2y} o~ o
g 8 £ 5 2" -I- I e
% .000 _l |
4,030 Q 8 Q
TYPICAL I | S o B
BOTH SIDES - o
875 —r T
625 4 0 R — D M | HOLE LEGEND
575— A A VB I A o238 CHASSIS TOP
E___ ________ N _@_ C - 8.375
.000—I D - .406
o o o N TOP — 1@ — 4.03" X 2.85"
8 [ a R SIDES — 20 .938" X 2.85"
q V]
CHASSIS BOTTOM MATERIAL — 1/16” THICK PC BOARD STOCK
BOTIOM — 1@ — 3.90" X 2.725"
SIDES — 2@ .375 X " X 2.725; \ VISIT HTTP:/,/WWW.QRPBUILDER.COM/DOWNLOADS/PCB_CHASSIS_A.PDF
FRONT & BACK — 2@ .B75 X * X 3.90 FOR SPECIFIC CONSTRUCTION TECHNIQUES REGARDING PCB CHASSIS
MATERIAL — 1/16” THICK PC BOARD STOCK
THIS IS AN EASY WAY TO MOUNT THE BOARD USING 2@ 4—40 NUTS -
AND A 3/8" LONG 4—40 SCREW UNDER EACH CORNER OF THE PCB. ITEM |RE°D| DESCRIPTION | MAT'L
BE SURE TO USE RUBBER FEET UNDER YOUR CHASSIS, OR COUNTERSUNK
4-40 SCREWS Hendricks QRP Kits

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES ARE: TLE

FRACTIONS DECIMALS  ANGLES
+ 1/32 XX £ 015 £ 1°

DCxxB PCB CHASSIS

XXX + .005 DRAWN SCALE DATE
SURFACE FINISH WAMNT FULL 04/10/11

~
R D oIS 0 arAMFER |SHEET 1 oF 1 |Rer. owe.#




